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ENGLISH VERSION

Instructions : (1) Marks are shown on the right side of question.

(2) Show required calculations as a part of answer.

1 From the following informations, prepare cash budget of 20

of Sanyam Ltd. for the month of May-2020.

(1)
2)

3

4
®)

(6)

(7)

Cash balance on 1-5-20 1s Rs. 1,00,000.

75% credit purchase, 25% cash purchase, credit allowed
by Creditor's is 1% months.

20% Cash Sales, 80% Credit Sales.

Collection policy :

40% in the next month of Sales.

30% in the second month of Sales.

20% in the third month of Sales.

10% bad debts.

Expenses are paid every fortnightly.

A machine costing Rs. 6,00,000 was purchased in
Feb-20, the same is repayable in 5 equal instalments

with interest @ 1% P.M. The first instalment was due

in March-20.

In May-20, income form investment is expected

Rs. 20,000. (TDS 10.20%)
An old machinery 1s to be sold for Rs. 80,000 in
May-20.
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(8) Income Tax is to be paid for Rs. 15,000 in May-20.

(9) Details regarding income and expenses :
Months Sales | Purchase Direct Indirect
(2020) (Rs.) (Rs.) | Exp. (Rs.) | Exp. (Rs.)
Feb. 5,00,000 3,00,000 1,00,000 1,00,000
March 7,50,000 4,00,000 1,10,000 1,15,000
April 7,00,000 3,50,000 2,00,000 50,000
May 8,00,000 4,50,000 50,000 1,50,000
June 9,00,000 5,00,000 2,00,000 1,00,000

OR

1 A per unit cost of production of Saloni Company Ltd. is

given below :

14

Particulars Amount (Rs.)
Raw Materials 80
Direct Labour 30
Overheads 60
Total Cost 170
Profit 30
Selling Price 200

The
(1)

following further particulars are available :

Raw materials are in stock on average for one month.

Materials are in process, on average for half a month.

Finished goods are in stock on average for one month.

2)

Credit allowed by creditors is one month. Credit

allowed to debtors is two months.

3

Lag in payment of wages is 15 weeks. Lag in payment

of overheads is one month.

4
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(®)
(6)

You may assume that

Cash on hand and at bank expected to be Rs. 25,000.

(1) Production is carried on evenly thoroughout the

year.
(i1)
(1) 4 weeks =

(7

From above informations, calculate working capital.

1 month.

Production 1s 1,04,000 units.

Wages and overheads accrue similarluy.

2 From the following information of Anita Company Ltd., 20
Calculate (A) Profit on Gross Capital Employed and
(B) on Net Capital Employed.

Balance Sheet as on 31st Dec. 2019
Particulars Rs. Rs. Rs.
Fixed Assets :

Building : at cost 1,50,000
Plant & Machinery at cost 2,565,000
Less : Depriciation Written off 75,000 |1,80,000 |3,30,000
Investments :
Outside the business 20,000
Inside the associated companies 5,000 | 25,000
Current Assets :
Stock 45,000
Debtors 40,000
Less : Provision for bad debts 1,000 39,000
Cash and Bank 1,000
85,000
Preliminary Exp. 5,000
90,000
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Less : Current Liabilities :

Creditors 35,000
Taxation 15,000 | —50,000 | 40,000
Total (Rs.) 3,95,000
Authorised and Issued
Share Capital :
10,000 12% Preference Shares
of Rs. 10 Each 1,00,000
15,000 Equity Shares of
Rs. 10 Each 1,50,000 |2,50,000
Reserve :
Security Premium 25,000
General Reserve 50,000
Profit and Loss Alc 35,000 [ 85,000 (1,10,000
9% Debentures 35,000
Total (Rs.) 3,95,000

Notes on Balance Sheet :

(1) Additions to original costs of assets necessary to convert

them to replacement costs.

Building

Rs. 25,000

Plant and Machinery Rs. 55,000

(2) Cumulative depreciation on replacement cost of Plant

and Machinery would amount to Rs. 93,000.

(3) Obsolete Stock amount to Rs. 1,000.
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Notes on Profit and Loss Account :
(1) The profit as per P and L A/c for the year 2019 is
Rs. 53,100.

(2) Depreciation on Plant and Machinery charged was Rs.
26,000, depreciation based on replacement cost for the

year 1s ascertained as Rs. 31,000.

(3) Profit on sales of Machinery ................ Rs. 4,000
Recovery of bad debts............cooovvvvnnnnn. Rs. 2,000
Goodwill written off .........ccoooveiiiiiiinnnn.. Rs. 3,000
Income from investment outside

the busSINeSS ....ccoovvvvviiiiiiiiiiiieeinn, Rs. 2,000
OR

Neelam Ltd. is manufacturing one standard product. 10

The standard cost per unit is given below :

Direct Material Rs. 16
Direct Labour Rs. 8
Variable Overheads Rs. 6

Rs. 30

The budgeted production is 10,000 units and fixed at
Rs. 1,50,000. The policy of the company is to charge

. 1
profit at 335% on cost.

Liablities Rs. |Assets Rs.
(in Lakh) (in Lakh)
Share capital 7.00 |Fixed Assets
P and L Alc 0.50( (Less :
Creditors 0.20| Depreciation) 6.80
Current assets 0.90
7.70 7.70

You are required to calculate the return on investment,

and find out profit on sales in percentage.
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(b) Suryansh Company Ltd. produces and sells electric 10

fan. The sales manager estimates that there 1s a scope
for 50% more sales, if an attractive reduction is offered
in price. The information about the relevant cost is as

follows :

Particulars Present Proposed
Position |[(increase 50%)
Sales (units) 20,000 30,000
Cost of Production : Per unit Per unit
(Rs.) (Rs.)
Direct Labour 12 15
Direct Materials 240 230
Variable Overheads 36 37
Fixed overheads 12 10
300 292

Present Sales Price (Rs.) 320

The working capital requirement is equal to 15% of
sales. The fixed assets are Rs. 10,40,000. No additional
equipments are required to reach the proposed
production.

Calculate return on capital employed. If the same
return 1s to be continued, state what should be the
selling price ?

3 (a) Priyansh Ltd. produce three items. The year round 10

cost related informations is as follows :

Items Direct Direct Variable Fixed

Materials Wages | Overheads |Overheads

(Rs.) (Rs.) (Rs.) (Rs.)
A 1,30,000 40,000 30,000 25,000
B 1,75,000 55,000 60,000 40,000
C 1,50,000 40,000 20,000 35,000
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Sales :-

Item - A Rs. 2,75,000

Item - B Rs. 4,25,000

Item - C

Rs. 3,00,000

The company imports a part of the raw-materials used

for the production process. There is control on the

import of materials. The consumption of the material

is as follow :

Item - A : 4,000 kgs, Item - B : 5,000 kgs,

Item - C : 6,000 kgs.

In order to improve the profitability, the company plans

to stop any one of the productions and use the materials

in the production of remaining two items. Looking at

the market demand entire production can be sold.

Give your opinion as profit planner.

(b) If fixed expenses Rs. 8,250, Break Even Point
Rs. 30,000, Variable Expenses Rs. 36,250.

Find :

(1) Profit Volume Ratio

(2) Sales
(3) Profit.

3 The flexible budget of HGM Ltd. is as follows :

OR

15

Capacity 50% (Rs.)|[75% (Rs.) [100% (Rs.)
Material 1,00,000 | 1,50,000 2,00,000
Wages 1,20,000 | 1,80,000 2,40,000
Factory Overheads 70,000 85,000 1,00,000
Office Overheads 10,000 10,000 10,000
Selling Overheads 1,00,000 1,30,000 1,60,000
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The company is presentaly operating only at 50% capacity.
The sales value of production at current selling prices is
Rs. 5,00,000. It is anticipated that a 5% reduction in the

selling price will enable the company to increase its sales
volume and there by enabling it to operate at 60% or 80%
Capacity.

Prepare a flexible budget for 60% and 80% production

capacities and find out profit.

4 Write short notes : (any three) 15
(1) Benefits of Management control strategy.
(2) Target Costing.
(3) Importance of Government Accounting Method.
(4) Basis of Government Accounting Method.

(5) Role of Managerial Accountant.
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